Gardner's Heuristic Method

(pp. 160-1)

A. For every predicate in the rule, test whether:



CSK-Answer

Does Common sense knowledge rules provide an answer?



Pos-Examples

Does problem match positive examples of predicate?


Neg-Examples

Does problem match negative examples of predicate?

B. If ¬ CSK-Answer 

If ¬ (Pos-Examples or Neg-Examples) --> Question hard 



If (only one of Pos-Examples / Neg-Examples) 

--> Question easy 



If (Pos-Examples and Neg-Examples) --> Question hard 

If CSK-Answer 

If ¬ (Pos-Examples or Neg-Examples) --> Question easy 

If (only one of Pos-Examples / Neg-Examples) 

If (agrees only-one w/ CSK-Answer) --> Question easy else Question hard 

If (Pos-Examples and Neg-Examples) --> Question hard 

